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Ql Answers M
1 | x=30andy=20 1.5
Let x be the price of a shirt and y the price of a belt.
2a . 1.5
x and y verify the system
2b | The price of a shirt is 30 000 LL and the price of a belt is 20 000 LL 1
2¢ 4(30 000 x 0.85) +3(20 000 x 0.9) = 156 000 1
Nadim should pay 156 000 LL
Qll Answers M
1 | X+x+4=20and x+4+y=26;Hencex=8andy = 14. 1
Hum Eco Total
5 Boys 8 16 24 1
Girls 12 14 26
Total 20 30 50
3a | PBAH) =— -2 1
50 25
16 2
P(E/B)=—=-—. 1
b | P(E/B)=2,=1
26 20 12 17
P(GUH)=P(G)+P(H)-P(GNH)=—+=—=-==="", 1
3c ( ) =P(G)+P(H)—P( )50505025
Qlll Answers M
1 limf(x) =+ and limf(x) = —c. The line with equation x = 1 is an asymptote to (C). 15
oy o1 '
2 lim f(x) =+ and lim f(X) = —oo. 1
im| lim (f(x) = (-x+2)) = lim _—11 =0and lim (f(x) —(-x+2)) =0 . The line with 1
+og X—>—0 X—=>—00 ¥ — X—>+00
equation y = —x + 2 is an asymptote to (C).
4 Forx=1,y=1;then I(1;1). 1
2 _
Fr0 =1+ 1 2 _ =X +2x—21+1: x(2 x2)
ey (xD
X |-o0 0 1 2 + o0
f'(x) — 0+ + 0 —
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The points with coordinates (1; 1), (0; 3) and (2 ; —1) belong to line y =-2x + 3.

f(x) <-2x+ 3 ; that is (C) is below liney = -2x + 3 :

S0 xe]-oo0[ UL2[
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